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Addition  

Grade 2 Word Problems Worksheet 
 
 

It’s Pay Day! There is a newly-opened clothing store in 

town.  

 

1. One dress in the store comes in 3 different sizes. 

There are 21 size small, 24 size medium, and 9 size 

large. How many dresses are there altogether? 

 

 

 

2.  The store is open every day. Last week, 31 

customers came in on Saturday, 28 customers 

came in on Sunday, and 41 customers came in 

on Monday. How many customers came in on 

the weekend? 

 

 

 

3.  The store owner received a delivery from the 

supplier. There were 10 boxes of dresses, 13 boxes 

of pants, 17 boxes of skirts, and 7 boxes of 

buttons in the delivery. How 

many boxes of clothing did 

the store owner receive? 
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4. There were 12 pairs of shorts displayed at the 

store, and 23 pairs were in the stock room. If 

there were also 4 pairs of shorts that had been 

returned for repair, how many pairs of shorts were 

there in the store altogether? 

 

 

 

 

 

5. Stacey listed all the brands of clothing in the 

store. On her list, 17 brands were for adults, 12 

brands were for teens, and 8 brands were for 

kids. How many brands of clothing were there in 

the store altogether? 

 

 

 

 

 

6. Write the addition equation for this sentence: 

“Jenny bought 2 skirts for 8 dollars each and a 

pair of shorts for 11 dollars. So, she spent 27 

dollars on clothing altogether.” 
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Answers 
 

1.  21 + 24 + 9 = 54 
There are 54 dresses altogether. 

 
2.  31 + 28 = 59 

There were 59 customers who came in on the 
weekend.  

 
3.  10 + 13 + 17 = 40  

There were 40 boxes of clothing delivered. 
 
4.  12 + 23 + 4 = 39 

There were 39 pairs of shorts in the store. 
 
5.  17 + 12 + 8 = 37 

There were 37 brands of clothing in the store. 
 
6.  8 + 8 + 11 = 27 
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